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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice

T contribution to the mean
cluster size for one branch.
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Site percolation on the Bethe lattice

)( mean cluster size (fluctuations)

600
600 prrrrrrr e j
: 300}
X 450F -
% 300 T 600
300F 1/(pc — p)
E 1
150F P, |
: z—1 :
C J /

Mean cluster size for the occupied origin

x= (1+3T)
T:1p2
APy <,
_2(1+p)
1
5D




Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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Site percolation on the Bethe lattice
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